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[HERME] UTositRek i,

(1) 22x2% = (2) x2xx®= (3) 2% =22 =
@ x*+x*= () (2% = 6) (x*)?=
(7) x3 % x3 = (8) x12 = x04 = ©) (X§)2 _
[EREREOF VY] X x xb = x(a+b)
ORI LT, ko & 5 2 BRIAHE Y Yo, X4 = b = @b

(Xa)b — X(axb)
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[EREROF v Y]

x*=bREO - TNDHETDH, ZDEX, biIxDMFTHINENIEETEZD, TN
THY, logyb=aldbbbOTENTED,
() log,8=3 (23=8LY)
log,,100 =2 (102 = 100% V)
logs1=0 (5°=1k"Y)

[(RERE] LTOMEOELZZNZNRD L,
(1) log, 16 = (2) logs125 = (3) log;81 =

[EREROF v Y]

 FEROFH AR
SOFIFEIZBE LT, DED XD AN Y 325,

lng(aﬁ) = log, a +log, B

a
log, (E) = log, @ — log, B

log, a™ = mlog, a

[(FRERIRE]
1. L FOKHELB I %,

(1) log,(4x8) = (2) logs (%) = (3) logyn 103 =

2. logya=3log, =20+ &, LTOXFRDIEEZ KD L,

(1) logy(aB) = (2) log,a? = (3) log, (%2) =



